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i = s | tEn | B % :
fREET 10,292] 10412] 11,661 22,073
=L} 14710 16450 17791 342411 gm= | 26303 | 27,316 | 20,823 | 57,139
& FeET 3,129 3,129 3,320 6,449
HA P BT 2112 2119 2242 4361
KEHT 3.431 3,748 4,093 7,841
Jt ¢ T 873 852 937 1,789
AR | 50080 5407) 5773 11180| | gms | peg16 | 27312 | 29805 | 57117
&&t| 26316] 27312 29805 57,117
X F A # & & A 0O
KF K 2 £ 5 K=F T &5 = E KF Gkl 5 £ K
AN 1,246 1,318 1,447 2,765| | HEH 20 21 24 45 XA 26 21 26 47
[ 1,345 1,217 1,413 2630 | KEH 28 20 34 54 3] 0 0 0 0
= H 1,478 1,498 1,680 3,178 = 15 14 14 28 1A 401 429 501 930
25 1,357 1,417 1,553 2,970 L 13 10 18 28 A 663 766 809 1,575
RES 1,129 1,154 1,254 2,408 =B 7 7 5 12 BB 246 266 293 559
INEE 932 869 1,008 1,877 K= 150 222 227 449 =t 84 67 103 170
I 263 250 294 544 E% B 107 122 118 240 ] 107 134 127 261
bk 463 474 533 1,007 KK 413 459 523 982 | FES 122 143 164 307
FEX 389 428 460 888| | IHAIS 70 88 94 182| | REE 166 177 184 361
fit] 5 242 230 284 514 | RiEF 769 807 894 1,701 h B 37 41 36 77
o= 1,448 1,557 1,735 3,292 &K 815 906 956 1,862| | FAEE 38 43 48 91
BE 1,244 1,390 1,507 2,897 xB 888 848 917 1,765 5 453 449 453 902
e 227 255 272 527 mE 195 243 301 544 FR 313 338 373 711
&R 705 622 729 1,351 &I 24 53 63 116 =53 121 109 129 238
=YH 595 609 617 1,226 AR 240 277 275 552 JI| U5 144 151 141 292
=25 1,829 1,898 1,974 3,872 EH 189 174 224 398 e $3 60 64 66 130
B 44 1,300 1,401 1,455 2,856 KiH 73 60 77 137 IR 1,063 1,168 1,202 2,370
g} 471 410 460 870| | BEA 24 20 20 40 % 990 1,062 1,144 2,206
| i= 233 211 210 421 B 18 12 20 32
NEH 25 25 22 47 ¥ 303 288 295 583




